FITTINGS PARTS LIST KEUCO

EDITION 11 Collection Moll Edition 300 PLAN
51171 010182 52771010181 53071 010182 54971 010181
ELEGANCE Edition 300 PLAN BLUE

51671 010181 53071 010181 53971 010181

@ 50114000024

@ 50114000025 50100000363

7
TS |
[ G
G W (57 ‘v; o

|
50114000099

@)
®

50100010378
50114000032

50114010034
3 < S
S 00— 33— gF@—~ 3 19—
o o |5ro— [ |31@
12— s -2 S2—-| ) | 502
51171 010182 51671 010181 52771 010181 53071 010181

@®C>

S B
e

53071 010182 53971 010181 54971 010181

50100010305




FITTINGS PARTS LIST

KEUCO

Plan blue

53971 Concealed single lever shower mixer

Article no.
50114000099

50114000024
50114000025
50100000363

50114000032
50100010378
50100010364
50114010034
50100010292

50100010303

50100010346

50100010304

50100010217

50100010305

No.

w

©| 0o N o g b

10
11
12

13
11
12

14
11
12

15
11
12

16
11

17
11
12

Spare part

O-ring 22x2

Mixing cartridge
Cartridge nut
Fixation complete
Fastening plate
Gasket

Screw

Screen

Screen

Pump complete
Handle complete
Handle

Threaded pin M5x5
Cover

Handle complete
Handle

Threaded pin M5x5
Cover

Handle complete
Handle

Threaded pin M5x5
Cover

Handle complete
Handle

Threaded pin M5x5
Cover

Handle complete
Handle

Threaded pin M5x5
Handle complete
Handle

Threaded pin M5x5
Cover

Surface

chrome-plated
chrome-plated
chrome-plated

chrome-plated

chrome-plated

chrome-plated

chrome-plated

chrome-plated

chrome-plated



http://www.tcpdf.org

